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2 9,196 11,201 A2,005
201 2Bt 3,500 5,430 21,930
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SMHEHT 2 N3 21,600 21,800 A 200
202 Oddl 1,800 2,000 A 200

01 = LH 4 Hi 1,800 2,000 A 200
SLYFEH YREY 1,800 2,000 A 200

2l = 924,510 925,110 A 600
= 15,000 15,000 0

Xl 71,890 71,890 0

=) 40,232 40,232 0

s 797,388 797,988 A 600

N




fA:H
g g
el o

M2t
el =

(=]
2o A&

=]

Xl
=g

or

2H

il

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
Adois & MNHsHMNLE 924,510 925,110 A 600
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= 797,388 797,988 A 600
NS iel &= 274,400 275,000 A 600
201 ¢er24H| 900 1,000 A 100
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